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Thoi gian lam bai: 75 phut — Hoc sinh khong dwoc su dung may tinh
HO 10 SO DT PHHS: oo

TIWONE: weieeiiee e

Fill your answer in the blank near to each question.

Problem | Question Your
answer

MS.01 Using only digits 1, 2, and 3, how many different 1-, 2-, or 3-digit
counting numbers can one make?

Chi st dung cac chir s6 1, 2, 3 ¢6 thé tao thanh bao nhiéu sé ¢é 1, 2
hodc 3 chir s6?

MS.02 When you write all the counting numbers from 1 to 100, how many
times do you write the digit “0”?
Khi viét cac so tw nhién tu 1 den 100, can dung bao nhiéu chit so 0?

MS.03 The scale below is showing the left side weighing heavier than the right
side. We want to make the two sides balance or equal (both sides weigh
the same). Which 2 balls should we exchange to make the two sides
equal?

Trong hinh cdi can dwdi ddy, phan cdn bén trdi ndng hon phan cdn bén
phai. Chiing ta muén lam cho can thiang bang (hai bén cé khoi luong
nhuw nhau). Hoi hai qud béng ndo ¢ hai phia can déi ché cho nhau dé
dat dwoc cdn thang bang?

MS.04 From the diagram below, which one of the five boxes is the lightesj[?
Tiwr cac hinh dwoi ddy, hdy cho biét hop nao trong 5 hop la nhe nhat?
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MS.05 The picture below has six rows. If this pattern were continued downward
to have 12 rows, how many more squares than happy faces would there
be in the picture?

Hinh duwdi ddy c6 6 hang. Néu qui ludt hinh do tiép tuc cho dén 12 hang,
khi d6 s6 hinh vuéng nhiéu hon sé mdt cwoi la bao nhiéu?
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MS.06

On each day that Andy does his homework his mother gives him $4, and
on days he doesn’t she takes $1 away from him. After 30 days Andy
notices that he has the same amount of money as when he started even
though he has spent nothing and had no other source of income. On how
many of the 30 days did he do his homework?

Vao méi ngay ma Andy hoan thanh badi tdp vé nha cua minh, me cdu dy
sé dwa cho cdu dy 4 do la. Con mot ngay ma cdu ay khéng hoan thanh
bai tap, thi me cdu dy sé ldy lai cia cdu ay 1 dé la. Sau 30 ngay, Andy
thdy rang sé tién ciia minh khong thay doz s0 v&i ban dau, mdc di cdu ta
khéng chi tiéu gi ciing nhw khong cé nguén thu nhédp ndo khéc. Hoi
trong 30 ngay do, cdu dy dd hoan thanh bai tap vé nha bao nhiéu ngay?

MS.07

Aaron is waiting in a line. He is in the 5" place counting from the front
and he is in the 8" place counting from the back. How many people are
in this line?

Aaron dang xép hang doi. Cdu dy dirng thir 5 néu dém tir truée cdu dy
xuéng, con néu dém tir phia sau thi cdu dy dimg thir 8. Hoi c¢é bao nhiéu
nguoi dang xép hang?

MS.08

I am a 3-digit even number. If you round me to the nearest ten, I become
200. The sum of my digits is 18. What number am 1?

T6i la mot s6 chan cé 3 chik s6. Néu lam tron dén gan muweoi nhat thi t6i
sé la 200. Téng cdc chit s6 ciia t6i la 18. Hoi t6i la s6 ndo?

MS.09

[ am a number and I am made up using 3 different digits. The sum of all
my digits is 3. My ten thousands digit is double of my tens digit. What
number am [?

T6i la mét s6 va téi dwoc tao thanh tir 3 chik s6 khdc nhau. T 5ng cac chir
$6 ciia t6i la 3. Chir s6 hang muwoi nghin gap déi chir s6 hang chuc. Hoi
t6i la 56 nao?

MS.10

Balance the following scales by drawing in the missing stars in the 3™
diagram. How many stars do you need?

Hay cdn bang cdn thir 3 bang cdc vé cac hinh ngéi sao vao bén cin con
thiéu ciia hinh thir 3. Can ding bao nhiéu hinh ngéi sao?
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MS.11

Katie’s birthday was yesterday. It is Thursday tomorrow. What day was
Katie’s birthday?

Sinh nhat Katie la ngay hom qua. Ngay mai la thir Nam. Hoi sinh nhdt
Katie la thir mdy?

MS.12

How many cubes have been removed from the first block to obtain the
second one? o
Can bo di bao nhiéu hinh lap phwong nho tuw hinh thiwr nhdt de nhan dwoc




hinh thir hai?

MS.13

How many dots are in Figure 6?
Hinh thir 6 ¢6 bao nhiéu cham?_
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MS.14

The sum of the two 5-digit numbers ABC10 and ABC12 is 123422. What is A
+B+C?
Tong ciia hai s6 ¢6 5 chir s6 ABC10 va ABCI2 la 123422. Tinh A + B + C.

MS.15

The weights in the figure are in balance. The same shapes have the same
weight. The weight of each circular shape is 30 ounces. What is the
weight of the square shape indicated with the question mark?

Cac vat nang treo o hinh duoi day o trang thai thang bang. Cac hinh
giong nhau ndng nhuw nhau. Khéi eong ciia méi hinh tron la 30 ounces.
Hoi khéi lwong ciia hinh vuéng dwoc danh ddu ? la bao nhiéu?

Ceiling

V& L @

MS.16

In the addition problem below, the square, the triangle, and the circle
represent a different digit. What is the digit sum of one square and one
circle?

Trong phép tinh cong duoi day, hinh vuong, hinh tam gidc va hinh tron
thé hién cho cdc chit s6 khdc nhau. Tinh tong cdc so6 thé hién béi hinh

vuong va hinh tron?
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MS.17

Below are two zig-zag shapes made of identical little squares 1 cm on a
side. The first shape has 6 squares and a perimeter of 14 cm. The second




has 9 squares and a perimeter of 20 cm. What is the perimeter of the zig-
zag shape with 15 squares?

Duwoi day la hai hinh zic-zdc dwoc tao bdi cdc 6 vuong nho co canh 1
cm. Hinh thir nhat tao thanh tir 6 6 vuéng nhé va cé chu vi la 14cm.
Hinh thir hai tao thanh béi 9 6 vuéng nhé va c¢é chu vi bang 20cm. Tim
chu vi ciia hinh zic-zdc tao thanh béi 15 6 vuéng?
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MS.18

Alisa’s phone number is a 7-digit number where each digit is greater
than each of the digits to its left. Her phone number doesn’t start with 0
or 1. How many different phone numbers can be her phone number?

S6 dién thoqi cua Alisa la s6 co 7 chit $6 ma moz chit s6 déu lom hon cdc
chir 6 o phia trdi cua no. S6 dién thoai cuia co dy khéng bt dau bang
s6 0 hay s6 1. Hoi ¢6 bao nhiéu sé dién thoai khdc nhau c6 thé la sé
dién thoai cua co ay.?

MS.19

The odd numbers from 1 through 17 are placed in the magic square so
that the sum of the numbers in each row, column and diagonal are equal.
What number goes in the square marked “X”?

Cac 90 tir nhien lé tir 1 den 17 duoc dién vao hinh vuong “‘ma thudt”

cho téng cdc $6 trén moi hang, moéi ¢t va dwong chéo déu bang nhau
Hay tim $6 dwoc dién & 6 vudng danh ddau “X”.
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MS.20

Observe the pattern and find the value of a.
Quan sat qui ludt va tim gia tri cua so a.
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